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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. This paper consists of 6 questions. Answer ariy 4
questions

3. All questions carry equal marks. (18.75)

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. (a) What is national wealth? Why is it important? How
is national wealth related to national saving?

(b) Why do three methods of national income

accounting yield same measure of GDP? Explain,

(c) Differentiate between intermediate and final goods.
Under which category, are “capital goods”
included? (6.75,6,6)
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2. (a) How is the rate of interest determined by the

demand and supply of money? What happens t0
the interest rate if :
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(1) Nominal income increases

(i) Money supply increases

(b) What is seignorage? Discuss the impact of

constant rate of money growth on seignorage.
(c) Briefly explain the following concept :

(1) Fisher Effect

(ii) Debt monetization (6,6.75,6)
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3. (a) What is money multiplier? Suppose an economy
has monetary base of $20 million. Calculate money

supply in the following situations :

(i) All the money is held as demand deposits
and banks hold 5 per cent of their deposits

as rescerves.

(ii) All the money is held as currency.

(b) Discuss the elements of Stabilization Programs.

What are the costs of Stabilization?

(c) What is High Powered Money? To what extent

does High Powered Money affect the Money

Supply in an economy? (6,7.75,5)
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4. (a) Explain the effect of increase in government
spending on interest rate and loanable funds in

Classical model.

(b) Examine the impact of a contractionary fiscal

policy on output and interest rate under two

assumptions :

(i) Interest rates are kept constant
(ii) Money stock is kept constant

"(c) Suppose the government decides to reduce transfer

payments but to increase government purchases

of goods and services by an equal amount, that 1s,

it undertakes a change in fiscal policy such that

AG =—ATR. Then,

P.T.O.



(&)

30 6

(i) Would you expect equilibrium income to
rise or fall as a result of this change?
Why?

(ii) Suppose MPC = 0.8, Tax Rate = 0.25, level
of income=800, AG=20, ATR ="20. Find the

change in equilibrium income.

(iii) What is the change in budget surplus? Why
has budget surplus changed? (6,6,6.75)
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5. (a) Does the slope of LM curve have any implications
for the effectiveness of monetary policy in terms
of changes in income? What happens in

two extreme cases of horizontal and vertical LM

curves?

(b) “A higher marginal propensity to consume leads
to a steeper aggregate demand curve and a flatter

IS curve.” Explain it with the help of diagrams.
(¢) Consider an economy with following specifications :

Consumption Function, C = 200+0.6Yd

Tax = 0.2y
P.T.O.
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Investment, I = 100 — 8i
Government Spending = 150
Nominal money supply = 400"

Price level, P = 2

Demand for real balances, L = 0.2Y — 8i

(i) Write the IS-LM equations.

(ii) Calculate the equilibrium level of income

and interest rate. (8.75,6,4)
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6. (a) Explain the concept of Transmission Mechanism.

(b) Derive the IS curve. What determines the slope
of IS curve? Explain it with the help of diagrams.

(¢) Briefly explain the following :
(i) Automatic Stabilizers in the economy
(if) Full Crowding out (4,8.75,0)
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